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2. 5 ALY G- Fn 80 80 0
A o a B A 6,000 6,000 0
1. %89 5,896 5,896 0
2. BAAYG A FXIm 104 104 0
4.85A94 & 48,390 18,188 30,202
1.ARsED 48,390 18,188 30,202
1 [=]gtaAg nstA < 25,890 18,188 7,702
1. g RkEgH 2,980 2,200 780 | U H-H-A B 0 780,000 #13]= 780,000
2. WF g v 4,062 7,510)  -3,448 gi;ﬁlq % SHEART 1,878,000 -1,878,000
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=EAFE LA 0 -1,200,0009x1F= -1,200,000
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ézi%igi;;ﬁ;) hEd 5,450,000
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(AHA2F:) (5 ARF M) - 4 550,000
4,550,0009) # 1A E= e
2. [Z]UAEFEH S 10,000 0 10,000
(B HEH_2F) (5A) A Rl gy]
1.8+949 8,500 0 8,500 8,500,000
ere 30,0009) *1% #283 . 31 4] 7}=
(AHEH2F:) (5 EEFY
2. 05 $9gn 700 0 700 g 700,000
AL 100,000 73] =
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3. [2]0FASAD) WS =309 12,500 0 12,500
AR 22=)(EA ) oty A=t
1.95% 1,750 0 1,750 (3§ _27) (5) Fobe] 2 A 1,750,000
35,000 #504] 7=
(AHA2F) (EPAIF AL ZZ A ES) S
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Az G W 1 700,000 510%=
(HA)AIF AR 22 A ESE AT Y 380000
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REREE U
(A 25) (HF2AIHA =AY
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1.3 )M 4,000 4,000 0
1. [Z ]34 A A 4,000 4,000 0
1. 8] E 0] 4,000 4,000 0
6.8tm Ankeg 105,051 94,555 10,496
1.8tm7)| 3% &9 43,089 39,205 3,884
1.3A 7122 25,618 23,438 2,180
1. (2] 7,950 6,150 1,800
1. Yukd - 3=701) 3,150 3,150 0
2. A A5 A5 m] 3,000 3,000 0
3. E M| 1,800 0 1,800 | 3] 9] -E-x19] : 1,800,000 *1%= 1,800,000
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